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X+:(4000) 21 et b ZH:(4100) LIt 22l 8t:(4110) 018t 22 Mg (4111) e e 2re) HIAIEE: (120) 2 AL X 2 ) (2] [0 ]
2 = ¥ o9 = | oy m
ol o o | - A = 5 =
I 2 S MIE . NIMIE =2 O]l  AF oM = A 2
o ARYE DIEAE 2R 60,0002 x40 = 2,400
o J=XNRAUDE HHIB4 45,0008x40% = 1,800
o AJ|IUA B21DS KHIBA
45,000 x102 x5 = 2,250
200 [= 2,119 & 2,146 1 0]
AHSS Ol AF 26,720 26,330 390 (2 0 Il 0 Al 22,455 ]
210 [= 2,119 < 2,146 1 0]
BXALY 12,070 18,330 NB,260 (2 0 Il 0 Al 7,805 ]
201
B2 A Y| 7,200 14,000 26,800
7,200 14,000 A6,800(01 LBr2HY|
o 4.294¢
- QISR UALRE 7,200,000 x14l = 7,200
(=) 658
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(Al) 5,420
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UL A2 4,870 4,330 540
4,870 4,330 54010 BAIAIHI B A2
o DIIPEL|HE W 3,270,000 x 1Al = 3,270
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